EFHEEM TSR R T IRARRE T2 S (hydrogen) > {KiE
"3E (Bohr) JRFIEAY | AVEmEL 0 R THVE FREFE T AFRRAE Ek=-
13.622/k2ev » Rth Z BIETRF > k BETEEMR > 1 BT (ev)=1.602
x 10-19 £/ - RISE T Z2=1 » HETFHEME k=1 §F E1=-13.6eV; k=2
B E2=-3.4eV;k=3 i E3=-151eV;k=4 I E4=-0.85eV - + + o HF
P
B S pefE Pk 2 R RAVEERS (k=1) > FTRRHAVEEER " 2KE (lyman)
REAR 0 Ry BIME BURER
B RE S PE 2 R KAVRERE (k=2) » FrRRHAVEGERE A T CHE
(Balmer) B4R > K TTRDE HUREL o
B S Re PP 2 A REERE (k=3) > FTREHAYEEERE A T fHE (Paschen)
sam > By &TAME AURES -
BT Re PSP 2 R (RAVREPE (k=4) - FTREHADLEERE A T i
(Brackett) FE&R > HEIE 4LIMYE HIRZES

YYYYY

Paschen Brackett

Lyman

1 1884 F—(irki L-AVEURZEN DHEEE ().). Balmer) S A ESY YR
YN SUETIVEESA 41012 £5F (1nm=10-9 AK) -~ 434.01 £~
486.07 K~ 656.21 ZRZFEIUMRIEAR (W1 FEIR) AIFRE A m =364.56 m2
/(m2-4) » X m=3,4,56 > 2—ZFHEEE » BHSTAMEILTEZS

" EHEE J5f2 (Balmer's formula) | °

1890 Z4F > J.R. Rydberg ZEFRFADIAVELAR TSR ~ o1 ~ §F - $EE LR T H
o B EREER 1/ A =R(1/n2-1/m2) > i Rydberg FEH# R
=1.09737 x 107 NR-1- F9fEIE 2 T Rydberg 75F2 (Rydberg's
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